	1. Problem 5-3: The value of P (The present worth) is most nearly (Points : 1) 
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	2. Problem 5-4: The value of P (the present worth) is most nearly: (Points : 1) 
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3. Problem 5-5:    The value of Q is most nearly (Points : 1) 
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4. Problem 5-27:  The present value, P is most nearly: (Points : 1) 
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5. Problem 5-10:   (Be careful with the time line.)     The value of P is most nearly (Points : 1) 
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6. Consider the following Cash Flow table for questions 6 - 8... 

          Year          Cash  Flow
            0                - 30,000
            1                + 10,000
            2                + 10,000
            3                + 20,000
            4                + 20,000
            5                 -  5,000

The interest rate is 10 %



The Present Worth of costs is most nearly (Points : 1) 
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7. The Present Worth of Benefits is most nearly (Points : 1) 
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8. The Net Present Worth is most nearly (Points : 1) 
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9. 
Problem 5-45: The correct Analysis Period is:
(Points : 1) 
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10. 
Problem 5-45: The Present Worth (PW)  of the cost  (– Installed cost and operating cost + Salvage value)  of  Westinghome is  most nearly
(Points : 1) 
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11. 
Problem 5-45: The Present Worth (PW)  of the cost   ( -Installed cost and operating cost + Salvage Value)  of  Itis  is  most nearly:
(Points : 1) 

      [image: image47.wmf] - $ 92,500
      [image: image48.wmf] - $ 92,700
      [image: image49.wmf] - $ 94,600
      [image: image50.wmf] - $ 95,100


12. 
Problem 5-45: The recommendation should be to accept the bid of
(Points : 1) 
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13. The annual income from a rental house is $ 14,000.   The annual expenses  are $ 4,000.   The house is bought for $ 90,000.    At the end of eight years the house is sold for  $ 140,000.    For an interest rate of 8 %,  the  Net Present Worth of this investment is most nearly (Points : 1) 
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14. A machine is purchased for $ 10,000.   Its life is six years and there is no salvage value.   Annual maintenance is paid at the end of each year.   The first year maintenance is $ 2,000  and maintenance increases by 15 % each year.     The interest rate is 8 %.   Te Present Value of the cost is most nearly (Points : 1) 
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15. Problem 5-32: The present worth of the cost for alternative B is most nearly (Points : 1) 
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16. Problem 5-32: Which course of action should be selected? (Points : 1) 
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17. Problem 5-12: The present worth of costs is most nearly: (Points : 1) 

      [image: image69.wmf] $ 6,000
      [image: image70.wmf] $ 6,025
      [image: image71.wmf] $ 6,150
      [image: image72.wmf] $ 6,200


18. Problem 5-12: The present worth of benefits is most nearly: (Points : 1) 
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19. Problem 5-12: The appropriate recommendation should be: (Points : 1) 
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20. 
Problem 5-83: The NPW of alternative B is most nearly
(Points : 1) 
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21. 
Problem 5-83: The NPW of alternative A is most nearly:
(Points : 1) 
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$3.50
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22. 
Problem 5-83: The NPW of alternative C is most nearly:
(Points : 1) 
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23. 
Problem 5-83: The NPW of alternative D is most nearly:
(Points : 1) 

      [image: image94.wmf] $3.50
      [image: image95.wmf] $7.70
      [image: image96.wmf] $9.20
      [image: image97.wmf] $32.40


24. 
Problem 5-83: The NPW of alternative E is most nearly:
(Points : 1) 
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25. 
Problem 5-83: The NPW of alternative F is most nearly:
(Points : 1) 
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26. Problem 5-83: Which alternative should be selected? (Points : 1) 
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27. Problem 5-54  The amount of money deposited 50 years ago  is most nearly: (Points : 1) 
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28. Problem  5-52   The capitalized cost of the dam, including maintenance is most nearly (Points : 1) 
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29. Problem 5-53      The maximum equal annual withdrawal is most nearly (Points : 1) 
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